12 by 12 Kakuro Addition Puzzles

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

1% 37 10 8 8 24
2 7 3 2 5
21 5 28 2
Yl 4 8 | Y6 8
12 11 ! 5
4 R
23 1 8 5 1
10 6 31
g "7 4 5
9 4
4 1 7 1 4 10
11 9
z 5 ] il
4 10
B! °l 1 7
6 7 4
2 4 8 4 8 6
9 5 15 4
S 51114 el
3 1 7 6 3 1
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Answers

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

2 \J|37 10 N8 8 NJ24
. 421 7435 28]257]2
a6 8| |6|5]4]93(8]7
121411 1118 |95
4 2
18 5 174
10 N6 31
SERRAN 72415
G113 (Nfj1]2(4|N\]7(3]
SEAERPAERRE R ANANE R
NN 13 13417
17 4
418|013 131619
9 5 \|1B5 4
S 71815149 1|73
1201 7 6 121
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